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Using Simulated Annealing Algorithm for the Central Kitchen Operation Scheduling Problem

- A %
B ?Iix féfi;

I SRR &
A3
CPiEArid = &

o R BRI L il
400t T R
AMELIEEZFIEET

4 A PRI Lt

G e R BES R - R0 & B P w i

LR A ARG R 2
AL APBETIRIGIT o Ty * N
g o U R VR PR o

-—\

R
I
A

]

s SN t’Jﬁ:‘

AN R =4
2R s

et R BT ) )

T 'frlﬁdﬁbbﬁ& ,Pﬁ

¥ 4w J\:1 1A 3 ]‘ﬁo

» F_GH*NP-hard F® 58 > A 77
BRIV FEE g, 2 ug nEpir

Frein.

1P EFsav 4 24 5
2. &2 2 B ARiv¥E 5 e A
3. A 5F FanirE g i
4. LA 2 A2 Th:
5. IT¥ 27 N F v
6. (TEE L L2 FITEZ
7. 5% )] (v — 2 B4
8. %% gt iITERF R
9. & % chf 4pde 1 PERF

m'lﬁ_;l%‘-\;mb Co.

¥R Tg ER

te

>$8cie &

LR S

To * 4= 4eiE &
Cn RS KELE
- A7 4o R 500, 1000, 2000
Imax © B % 5= B ME R 0.1,0.01,0.001
X :IRi7f% "% %# | 0.85,09,0.95,0.99
Xpest * B v Bx i fi7 BB = ok 100, 300 , 500

<
b5
&
=
Y

- X2 SAR%

A G P mA A LGS AEr X > Bled
4’C@%A’u¥—%ﬁﬁﬁﬁéw’?§m
PR Rz =1 i o5 16:09 0 4% SAsc i {8 2
%= 1 PR 5 15:57 > ‘”ﬁ’fﬁ 1 124 48 o

KR W SA A

Al 16:08 14:16 1hr52min

B 16:09 15:57 12min

K2l 14:45 13:00 1hr45min

Cinax 16:09 15:57 12min

12:00.7:00 AM 8:00AM 9:00AM 10:00AM 11:00AM 12:00PM 1:00PM 2:00PM 3:00PM  4:00 PM

003_A —

015 B —

002_B

021_C -

025 C

020 B -

019 B —

004_A —

007_A =

005_A

006_A

013_B -— ,

009_A - l“]i

023_C - ,

002_A I ‘.3‘\ [ ]

011_8B =

003_C — Bi‘— -

005_B Y —

022_¢C -

024_C 2] -

001_A 1

010_8B —

008_A —

001_C f—]

018 B —
017 B

009 B

006_B -
012_B

016_B -
014 B -
007_B -

P RlAE - ASAREzZ HFRE o HP
= 1183 1285 KL PR -

- ﬁ,{? !

R G

C, = & Sophy 7% L B ]

C,, =1 %0, % TR
Cue = PIH B b2 48 5% TH 1

K,, = N Bgfe % & h&l B 46 5 R

Min C, .

st. S g+l) = Spq L pgh@ e ng

Pl

M
iamh =1
h=1

W

Z‘ghg =1
g=l

Syp+ =% )G2S, +1,,

K,+(l-0,,)1-¢,)G=S,

o = VEXO, B B 4 B ]

{yps = VE £ O, 2 & hi o T W5 1

1,
x L} =
pgh—p'q'h
0,

L, %0, %&iB#k4h
O pgh = 0

M BP0, 50, 2 F A

ow

oW
{1, ANBgHEBEMEN
Epg = 0
, OW

peJih eMpq: g, o= l,2,...,np -1
p.ped; heMpq: g,g'=l,2,...,np
pedih eMm: g,g'= l,2,...,np -1

peJiq=12,...n,

ped; q=l,2,...,np
p.p'eJ: heM, ; q.9'=12,....n,

h.h'eM ,; geW

F- A RIPFEHE ST ETKT

580

560
540 % 4R 2Rk #1420 >

520 /

7T 05 [a]479 5548

HAREO609 > 5% 85 R]478 48

500 *
480 B
460
440

420

($)EFH b

— e e e e e e — =

47 48 B 5 2000 0 B %08 A 0.001 >
"$ 8 730,99 » 3 & = H#SB00T reE g
Z_ o d UL =) R 3 adi L_“"‘fj“:zﬁ,{p"’k
PP 2 1R 525604 5 5§32 X=X #ioen
B 4e o E420= pF > =3 pERF R G479

A B PR &609 2= 20 N 2= 4
Bl car 24784 o it % m 2 » & 18
ﬁ_»@ﬁ,ﬂvﬁ*xﬁ ’?aﬁ:&:wx;
609 B; sy I 'Lé\ E ég‘x__ ])N o

TR LA RG R AR ’?f—mi& WESAZ T L BN DR G L R R I EFERF o
d AT g E g% GG e o
p T SA o
. 16:09 15:57 —
(16:08/16:09/14:45) (14:16/15:57/13:00)
) 15:45 14:49 —
(15:36/15:45/15:45) (14:49/14:35/11:57)
3 16:06 15:38 28min
(15:48/16:06/14:38) (15:38/14:44/11:02)
17:56 16:32 |
4 (16:55/17:33/17:56) (16:32/15:10/14:21) Lhr24min
: 15:32 14:37 —_—
(15:32/15:32/15:07) (13:53/14:37/13:53)
17:20 15:25 .
0 (17:20/16:15/17:19) (13:23/14:08/15:25) Lhr5min

BT

g

CHE BRI Ligy iz
TR AL o IR E T ok 4T o ’?Iﬁ,:é * SA E it ,‘11 fs AP IR 2
1R ke o AT TIER a1

ERAL B L ARG AL

T

AT X AR ARFEY e

ﬁ ﬁ»?\firﬁﬁz&‘%

“—»/ -7-r/2‘

NS ERE o) /1)?1""7'?]5]

\

2V JORMFERIER
FIpdoe § i phiTd SRR

wfrp & o
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